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POWER SYSTEM - 11

Pruffa e fwwe) - (ATt 3% : 70

Time allowed : Three Hours] [Maximum Marks : 70

e () wemweTrartd 9y 48 R ol % I G |

Note : Question No. 1 is compulsory, answer any FIVE guestions from the remaining.

(ii) FEE T S a5 ) FHAR O G 5 Hd |
Solve all parts of a question consecutively together.
(i) ¥ 59T B T3 78 & TRE FHod |
Start each question on fresh page.
(iv) T Sreran 7 = g # IR 7 s I B A8 |

Only English version is valid in case of difference in both the languages.

L) T omga 3 varea % o Tl |
Write advantages of transposition in overhead lines.
. (i) et qon Poms fereor vl H s s |
Differentiate between radial and ringmain distribution system.
(i) Frefea frga-Aus & @ e |
Write advantages of a suspension insulator.
(iv) HU=1 9T ) FHETET |
Explain Ferranti eftect.
(v} Fae H wr-au= faftr 3 e fafee |

Write names of methods of gradings of cables. (2x5)

(1 0f4) P.T.O.
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H oA 3 a1y AU wh % W % 9 g s e T w1 o el -

Hifsm |

Derive an expression of maximum sag calculation of transmission line taking the
consideration ot air and ice etfect.

T He0T 157 § 9Hae SMUR 250 et gt W | =retes WK 0.9 kg Wi et & qen

T IO 2 2 | AT W S M 10,000 kg R @) Jfirehem et 7 A |

The supports at same level in a transmission line are 250 metre apart. The weight
of conductor is 0.9 kg/metre and factor of safety is 2. If maximum breaking
strength is 10,000 kg. then find maximum sag. (6+6)

R et # @R are i yer & fagatius 1 gl Sifve |
Describe pin type of insulator used in overhead lines.

<t a1 &I G9HRT | A Tl § fena fagadusht & den A= &, 9 o caa
1 51 AT FHIfT |

Explain string efficiency. Derive the expression of string efticiency. if there are
three suspension insulators in a string. (6+6)

Ueh WeAW GET0T 184 1 gare aun free o) o = quig 7 fafy @ Sifs )

Describe the procedure of calculation of efficiency and regulation of a medium
transmission line by *T" method.

Terega o @Al 1 Fffetor Al qen s W 1 g |

Classity electrical transmission lines and explain skin etfect. (6+6)

o iRt @ ifa wmm w9 @ wifta faaoon § dteean ura 1 e ST Hif |

Derive an expression of voltage drop for a uniformly loaded distributor fed at
one end.

forega Favarcon someft & iver, foraees e wida g o aviq A |

Describe feeder. distributor and service mains in a electrical distribution svstem.

(6+6)
vfirTa Sferci 1 fas i fafal w1 aufs Hifvg |
Describe methods of laying of underground cables.
vftrTa Sfee 6t g &1 faa wfga 9o Hifg )
Describe construction of an underground cable with diagram. (6+6)
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(i) U SR U & @1 A # fafty w1 ok Fifdre |

Describe the method of errection of line support.
(i) METFmR?qEFA AN 2 @F s # 2

What is guarding ? How is it done ? What are its advantages ” (6+6)

frerferiaa v dftrat feoafrt forfae - (el @ w)
Write short notes on the following : (any two)
(i) o yorreft =61 ool ama
Flow diagram of power system
(i) Hator Seear %1 994
Selection of transmission voltage
(iii) LT @91 HT hf&reti o1 =84
Selection of LT and HT cables (2x6)
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